Custom Dynamics® Mirror Adapter

Installation Instructions

"’q'l Sk ¥ “Vb’

We thank you for purchasing the Custom Dynamics® Mirror
Adapter. Our products utilize the latest technology and high qual-
ity components to ensure you the most reliable service. We offer
one of the best warranty programs in the industry and we back
our products with excellent customer support, if you have ques-
tions before or during installation of this product please call Cus-
tom Dynamics® at 1(800) 382-1388.

Part Numbers: CD-MIRADPT-01

Package Contents:
- Mirror Adapter (Pair)
- M8 Lock Washer (2)
- M8 x 1.25 Nut (2)
- Thread Locker (1)

|RKAERARRAARNRNNNR . ';“'.
@ i
(

Fits: All Kawasaki, Suzuki, Honda & Victory; 2014-
2022 Indian models
(M8 x 1.25 to 1.25 to M10-1.25 Right Hand Thread)

A\ ATTENTION A

Please read all Information below before Installation

Warning: Disconnect negative battery cable from battery; refer to owner’s
manual. Failure to do so may result in electrical shock, injury, or fire. Secure
negative battery cable away from positive side of battery and all other posi-
tive voltage sources on vehicle.

Safety First: Always wear appropriate safety gear including safety glasses
when performing any electrical work. It is highly recommended that safety
glasses be worn throughout this installation process. Be sure vehicle is on
level surface, secure and cool.

Installation:

1.

Remove the existing stem from the mirror. See Photo 1.

Using the provided Thread Locker, apply thread locker to the
5/6— 24 side of the Mirror Adapter and thread the Mirror
Adapter into the mirror.

Thread the provided M8 x 1.25 nut by hand onto the Mirror
Adapter until seated against the stop.

Install the provided M8 lock washer onto the Mirror Adapter.

Thread the mirror with the Mirror Adapter, Nut, and Lock
Washer into the stock mirror mount until seated.

Unthread the mirror until you obtain the desired viewing angle.

Hold the mirror and tighten the Mirror Adapter Nut down
against the stock mirror mount. When tighten, you should not
be able to move the mirror.

Repeat Steps 1-7 for the other side.

Questions? Call us at: 1 (800) 382-1388

M-TH 8:30AM-5:30PM /FR 9:30AM-5:30PM EST

11/2021




